Multiply and Divide by Positive Powers of Ten (I)

Find each product or quotient.

8.1+ 1,000 = 512 x 100 =
8.29 X 10 = 5.612 x 1,000 =
5.6 Xx10 = 1.399 - 100 =
3.9104 x 10 = 89 x10=
7.5402 x 100 = 1.42 +- 1,000 =
2.463 = 1,000 = 9.7078 X 10 =
2.773 - 10 = 2.171 +10 =
8.3201 x 1,000 = 3+100=
7.433 + 1,000 = 8.8 +10=

391 +-10= 9.018 x 10 =
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ultiply and Divide by Positive Powers of Ten (I) Answe

Find each product or quotient.

8.1 +1,000=0.0081 5.12 X 100 =512

8.29 x 10 =82.9 5.612 x 1,000 = 5,612
5.6 Xx10 =56 1.399 =100 =0.01399
3.9104 X 10 = 39.104 8.9 x 10 =289

7.5402 x 100 = 754.02 1.42 + 1,000 =0.00142
2.463 +- 1,000 = 0.002463 9.7078 X 10 =97.078
2.773 +10=10.2773 2171 +10=10.2171
8.3201 x 1,000 = 8,320.1 3+100=0.03

7.433 + 1,000 =0.007433 8.8+10=0.88
3.91+10=0.391 9.018 x 10 =90.18
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